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QUESTION 1

Patti\\'s base salary last year was $65,000, not including her year-end bonus. When she checked her human resources
profile, she saw that her total compensation added up to $77,500. This total included her bonus, as well as health
benefits equivalent to 15% of her base salary. 

Rounded to the nearest tenth, what percentage of Patti\\'s base salary plus benefits was her bonus? 

A. 3.6% 

B. 23.6% 

C. 3.7% 

D. 4.2% 

Correct Answer: C 

 

QUESTION 2

Given that one Tunnel Boring machine could build 1,000 m of tunnel a month and the Tunnel is 50 km long, how fast
could the Tunnel have been built using two Tunnel Boring machines if there had been no delays? 

A. just over 2 years 

B. just under 5 years 

C. about 1 year 

D. just over 4 years 

Correct Answer: A 

 

QUESTION 3

Hamza purchased six 2-liter bottles of soft drink to serve at a pizza party with friends. 

If the group drank 7,264 cubic centimeters of the soda during the party, about how many liters of soft drinks remained
afterward? 

A. 2 liters 

B. 7 liters 

C. 3 liters 

D. 5 liters 

Correct Answer: D 
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QUESTION 4

A day trader noted that the value of a particular foreign currency pair fell from 1.32075 when the markets opened on
Monday to 1.29620 when the markets closed on Friday. 

By how much did the value of the currency pair decrease during the week, rounded to the nearest thousandth? 

A. 0.0246 

B. 0.024 

C. 0.025 

D. 0.02455 

Correct Answer: C 

 

QUESTION 5

What is the number of sides of a regular polygon whose interior angles are 156º each? (Remember, the sum of exterior
angles of any polygon is 360º.) 

A. 15 

B. 14 

C. 6 

D. 8 

Correct Answer: A 
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